		        „to be“  „plnovýznamové sloveso“
1. I		am
2. you		are	reading
3. he(she, it)	is

1. we		
2. you		are	reading
3. they	


Doplň správný tvar slovesa „to be“ a „plnovýznamové“ sloveso ve správném tvaru a větu přelož.

Tom is standing next to the blackboard. Ann and Tom are drawing  pictures.
The boys are writing exercises. The girls are singing at school.
The new teacher is speaking with our headtecacher.
[bookmark: _GoBack]All the students are sitting at their desks. They are waiting for their class teachers.


